
C1

C1 is _______ than 15 age.

Answer: ___________________

15 age is _______ than C1.

Answer: ___________________

C1 _______ more responsibilities than 15 age.

Answer: ___________________

15 age _______ fewer responsibilities than C1.

Answer: ___________________

C1 _______ more independence than 15 age.

Answer: ___________________

15 age _______ less independence than C1.

Answer: ___________________

C1 _______ a larger social circle than 15 age.

Answer: ___________________

15 age _______ a smaller social circle than C1.

Answer: ___________________

C1 _______ more life experience than 15 age.

Answer: ___________________

15 age _______ less life experience than C1.

Answer: ___________________



Answers

C1 is _______ than 15 age.

Answer: older

15 age is _______ than C1.

Answer: younger

C1 _______ more responsibilities than 15 age.

Answer: has

15 age _______ fewer responsibilities than C1.

Answer: has

C1 _______ more independence than 15 age.

Answer: has

15 age _______ less independence than C1.

Answer: has

C1 _______ a larger social circle than 15 age.

Answer: has

15 age _______ a smaller social circle than C1.

Answer: has

C1 _______ more life experience than 15 age.

Answer: has

15 age _______ less life experience than C1.

Answer: has


